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M SEMSIS
ol M2HS L MEBXS sS4 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA =22 & 115,000 83,000 32,000
O ARXRA B XIRAY 65,000
Jl 50,000
< 15,000
OAlZ MEAIE I XA S 50,000
XX 2el(T) 1,600,000 1,568,247 31,753
307 212+01™ 1,600,000 1,568,247 31,753
03 M EHE2SHIEX 1,600,000 1,568,247 31,753
O&EEMESX X 2t 1,600,000
HMSXNEX 22(01=2,2E88) 100,800 80,000 20,800
Jl 22,470
== 78,330
307 elztol & 100,800 80,000 20,800
) 22,470
< 78,330
04 QIHHAMAIH 2 £ 100,800 0 100,800
OFEEE M= 100,800
Il 22,470
= 78,330
HEXEX 2el01s, AzZ ) 4,538,079 3,776,142 761,937
J| 3,546,214
=S 991,865
308 XXM SOIH 4,538,079 3,776,142 761,937
Jl 3,546,214
< 991,865
01 XN BSELES 4,538,079 3,776,142 761,937
OdEMSXN A 2SI 4,064,079
Jl 3,126,214
= 937,865
OMEH=sLZ Y 2 (XNAXSE M
SA& 474,000
Jl 420,000
=S 54,000
MK SXH2tel (KA AlZ2XE) 495,5% 608,555 A112,960
308 AXIHSOIA 495,5% 608,555 A112,960
01 XN BSEES 495,59 608,555 112,960
MENSA =X HLIHAH 487,000
OX&Xt E2 #eHl X& 8,595
NAAZ=NSIHIH 2S (2B XH) 320,000 292,771 27,229
307 212+01& 320,000 292,771 27,229
03 LM EHE2SHIEX 320,000 292,771 27,229
ONYAZ=YSHHIE 2 320,000
AZRAHO0ISHE K& 4,437,493 3,165,609 1,271,884
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A HSAIEW
M SEMSEIS
ol ZoHedE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Fojel MEHs s4(%) 461,000 425,670 35,330
307 elztol & 324,000 324,670 AB70
02 2B YA E X 324,000 324,670 A670
O&= =8 daMsU=d 3t N 40,000
O AXXZEYH 4 50,000
ool dH= XA 234,000
308 AFAIEHMSOIE 122,000 36,000 86,000
01 AXEH B2 LS 122,000 36,000 86,000
ONi2el SEASE F0He! 24 HHERIE o
=8 U= 15,000
OXIAIEE &= HoHe +=SU=l 35,000
OHCHAIZE &= ZEE0e =W 21,000
OsgAMg H=8s+Ual 11,000
OFHEE: i =sI1= &t itg =Xl 15,000
OOtEEC| Otat M2l 2=2dul d=2X
stz 25,000
403 MR EHHSAHE01H 15,000 65,000 50,000
01 MXIHHA 22X 15,000 65,000 /50,000
Os4= e M=3 835 7 15,000
ZOH! MEMSXEA AFA(E) 390,890 362,908 27,982
7l 129,576
S 261,314
307 lztol & 390,890 362,908 27,982
Il 129,576
== 261,314
02 2IZHBHAIHE £ 40,000 34,833 5,167
OOt MEMSAMHIA X 40,000
03 I HEE2SHIE X 360,890 328,075 22,815
O Zoje! daMsSNEN 25 Xd 259,152
Il 129,576
= 129,576
O Z0je dEMSXNEXN MM 91,738
ZOHQ! MEHISXIER AL (AIZ/012) 2,505,675 2,301,812 203,863
Jl 1,927,443
< 578,232
308 AXIHMSOIA 2,505,675 2,301,812 203,863
) 1,927,443
S 578,232
01 HASHHBSEXS 2,505,675 2,301,812 203,863
OAlZ &0l HEHSAEXN 25 X2 2,505,675
Il 1,927,443
= 578,232
ZOHQ! MEHSXISR A (AIZ/XEA) 280,148 280,148 0




A HSAIEW
=L S TERE
ol ZoHedE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 280,148 280,148
01 XN BELES 280,148 280,148
OAlZ Z0He! HEMSXE=A HINEY 280, 148
ZOHe! MHQISHE 2H(2HAEXR) 40,000 39,600 400
307 gl2to| & 40,000 39,600 400
03 I EE2SHIEx 40,000 39,600 400
OHHe! HHEASHEH 24 40,000
SHEEMMAUM=U= =X XA 102,000 102,000 0
308 AXIHMSO0IA 102,000 102,000
01 AXEH B EES 102,000 102,000
OS=ZMHAMFUE HEIX X& 102,000
0 AX=AMOIEE X2 ALY 1,310,800 608,806 701,994
Jl 1,161,468
== 149,332
308 AXIMSOIA 1,310,800 608,806 701,994
) 1,161,468
< 149,332
01 HAHHBSEEXS 1,310,800 608,806 701,994
OFMH AZIAH0ISH XIS 1,310,800
Il 1,161,468
= 149,332
AERAY Y 3,000,000 3,000,000 0
AEXODNE =& 3,000,000 3,000,000 0
308 XXM SOIA 3,000,000 3,000,000 0
01 AXNBEES 3,000,000 3,000,000 0
OsEor T2 X 3,000,000
H=gs & el 2l 2,982,700 2,450,000 532,700
= 2,882,700
= 100,000
TS B2 AlEY 29 72,000 120,000 48,000
307 @I2t01 & 72,000 120,000 /48,000
02 QIHEHAIEE X 72,000 120,000 /48,000
OSEEL X ABH 2 72,000
d=12 U=l izl X 715,000 440,000 275,000
< 615,000
= 100,000
307 elztol & 190,000 120,000 70,000
= 90,000
= 100,000
04 CIZHHAMAMH 2 & 190,000 120,000 70,000
OrZtz OletEal X 40,000
OUE0retE el K= 150,000




A HSAIEW
M SEMSEIS
el dEgs € el 2l EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 50,000
= 100,000
308 AXIHSOIA 525,000 320,000 205,000
01 XN BSELS 525,000 320,000 205,000
O&=F= HHotetEtel X3 150,000
OU&E moc=MNLEEHR =3 50,000
OUNZEHEN d= R4 =203 100,000
Od=Ia==iz2 X 80,000
OFg g2 off &= Oelol Hi=stial 145,000
Hsgs 243 (AlZ) 1,695,700 1,369,000 326,700
307 gl2to| & 40,000 0 40,000
04 QIHHAMAIH 2 £ 40,000 0 40,000
O&d &S HUA U2l 40,000
308 AFAIEHMSOIE 1,655,700 1,357,000 298,700
01 AXEH B EES 1,655,700 1,357,000 298,700
OM=lsl &€ Z28 s X 1,655,700
HEas adsi(c) 500,000 521,000 221,000
307 lztol & 500,000 521,000 221,000
02 2B YA HE X 500,000 521,000 /21,000
OFEEL LUAEXSY |4 500,000
HSIIEAE &E & X3 57,528,217 77,129,887 19,601,670
[ 1,300,000
Il 12,564,000
== 33,664,217
= 10,000,000
SHALIHE HE 2,000,000 4,500,000 A2,500,000
401 AIEHIZ SR HYI 2,000,000 4,500,000 A2,500,000
01 Al&H| 1,755,308 3,458,340 A1,703,032
OSHAZXMEYH 2HE 1,755,308
02 Zeltl 244,692 1,041,660 AT96,968
OSHAL=MEYH 2HE 244,692
SHAXEIME 2 K& 2,600,000 2,600,000
201 er23| 100,000 100,000
03 A= I 100,000 100,000
OSgAEXHE JH2tAl JHE| 100,000
307 @I2t01 & 2,150,000 2,150,000
02 LB AANHEE 650,000 650,000
OSgAEXUEH 2EACIAAE A= i
L= 650,000
05 2IMRIE =3 1,500,000 0 1,500,000
OSgAZIME H2H2H| 1,500,000
405 KHoHF S| 350,000 0 350,000




A HsdSH
X SEHsAE
Rl HMSIIEtAI4

23 % AE (£ &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AL =S F=HI 360,000 0 350,000
OFgAEXMH 2EEIHIS 2 360,000
NSHSALXE (HEAI) 8,037,000 6,375,000 1,662,000
403 MR HHMSAHE01H 8,037,000 6,375,000 1,662,000
01 MHXIHH A 222 8,037,000 6,375,000 1,662,000
OMsIEAIL HE 8,037,000
MBS ARE SHSLH 1,300,000 1,190,000 110,000
[ 1,300,000
403 MR HHMSAHE01H 1,300,000 1,190,000 110,000
= 1,300,000
01 AR A =2 £ 1,300,000 1,190,000 110,000
OI2gdas AR MSHH 1,300,000
s 1,300,000
SSHEAIE HE= 2,410,000 1,500,000 910,000
Jl 2,410,000
403 AXIEHMSA=0ld 2,410,000 1,500,000 910,000
) 2,410,000
01 AR A =2 £ 2,410,000 1,500,000 910,000
O33HMSAIE HE+ 2,410,000
Jl 2,410,000
HSAIE ATVAISERXSS(BTL) (M EALS) 1,121,717 1,121,717 0
308 XtXIEMSO0IE 1,121,717 1,121,717
01 AXEH B2 LS 1,121,717 1,121,717
OMSAlE AHE SIXAFH (BTL) 1,121,717
COXEAIE B & B2 955,000 955,000 0
403 MR HHMSAH=01H 955,000 955,000
01 AXISHHA 22 % 955,000 955,000
Ok M=sUa AdE=2H 855,000
Ok ZoHe! MEUa A28 100,000
AE MEXNSAE € Ex22 2,509,000 1,061,500 1,447,500
403 AXIEHHSAH=201H 2,509,000 1,061,500 1,447,500
01 AXIEHM A= 2 £ 2,509,000 1,061,500 1,447,500
OA+R HENSAE B2 2,509,000
3=y gAY 1,300,000 2,850,000 A1,850,000
308 XXM SOl 100,000 150,000 250,000
18 SIS0t oA AS At 100,000 150,000 /50,000
Oomza=sLd ZdMg 82 100,000
403 MR HHMSAHE01H 1,200,000 2,700,000 1,500,000
01 HXIHHA 22 1,200,000 2,700,000 1,500,000
Ooma=nd gAY 1,200,000
ESTPESEUE(HEAY) 5,707,000 12,465,000 26,758,000
403 AXIEHHS X201 5,707,000 12,465,000 6,758,000
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X XH -
o=

=

H=&EH
SEH=d

C9l: HSIIBAIS 25 9 X (cho] 29
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA=2 2L 5,707,000 12,465,000 26,758,000
O=715elH 2Uds2 A8 5,707,000
2027 EFd SHAMAUEEI U= K& 11,778,500 38,011,670 N26,233,170
Il 7,354,000
== 4,424,500
306 E¢= 2,717,000 515,000 2,202,000
01 £g= 2,717,000 515,000 2,202,000
O2027 SHAMIAITHSIZI NG 2B &
A= (20258 2Hl) 2,717,000
401 Al HIZL 201 6,573,000 31,106,670 A\24,533,670
Il 5,000,000
== 1,573,000
01 Al&HI 2,943,000 30,056,670 A27,113,670
O2027 StAIMAIUSZIIU=l 21 &4 2,943,000
Il 2,943,000
02 Zeltl 3,600,000 1,000,000 2,600,000
O2027 StAIMAIU S ZIIU=l 218 &4 3,600,000
Il 2,057,000
== 1,543,000
03 Al 2 THHI 30,000 50,000 /20,000
02027 SHHIMAItIE B I IU=l FI1E =4 30,000
402 2I2F X201 & 2,437,000 0 2,437,000
Il 2,330,000
= 107,000
01 QIIN A EZ (XM THR) 2,437,000 0 2,437,000
Q2027 StAMAHTIEEIIUE Fo1E &4 2,437,000
Jl 2,330,000
s 107,000
403 MR HHMSAHE01H 51,500 6,370,000 26,318,500
Il 24,000
S 27,500
01 AXIHHA=2 2 51,500 6,370,000 6,318,500
02027 SHAIMAITIE B I IU=l FI1E =4 51,500
Jl 24,000
= 27,500
SHTE II3=2% X4 17,810,000 1,010,000 16,800,000
Jl 2,800,000
s 5,010,000
= 10,000,000
201 =3 10,000 10,000
01 At22t2l] 10,000 10,000
Osgg Ia=2d U293 23] 10,000
401 Al HIZL 01| 17,800,000 1,000,000 16,800,000




A HsdSH
X SEHsAE
Rl HMSIIEtAI4

22 2 X (Sl &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 2,800,000
=S 5,000,000
= 10,000,000
01 Al 16,250,000 1,000,000 15,250,000
OZEEEE II3=8d Al&d| 13,450,000
< 3,450,000
= 10,000,000
Osdzg MASZFE AEHI(013) 2,800,000
Jl 2,800,000
02 2/l 1,500,000 0 1,500,000
OsgEg IIas= 2ol 1,500,000
03 Al 2CHYI 50,000 0 50,000
OSELd Ia=Zd AR 50,000
d2Hs 2t 285,096 320,000 N34,904
) 285,096
=0IH=100 Ml SHIE 285,096 320,000 A34,904
Il 285,096
308 AtXIEMSOIE 285,096 320,000 A\34,904
Jl 285,096
01 XN BSELS 285,096 320,000 A34,904
O=CHMHE100 HHEASHE 285,096
) 285,096
Hegs(H=sas) 1,276,500 520,000 756,500
SHNUS(MSTED) 1,276,500 520,000 756,500
NSHLIIS oIttt (SHAZILE 1) 630,500 520,000 110,500
705 Ol==2clsate 630,500 520,000 110,500
04 Al - =XISHE D= 0+== 01 ktat et 630,500 520,000 110,500
OXISIHLIIZ Ol SH(SFGAL =LY
2A8) 630,500
SAHLF XAZ Ol K& EH2027 SHAIMAHICHE Z DI 3 646,000 0 646,000
JI1E &=4)
311 XS0l Rratet 646,000 0 646,000
03 SLIYFALS0IAtetet 646,000 0 646,000
Q2027 StAMALIEEI IS o1& =d Xl
LH(SLER XYS) OIXtef& 646,000
dH2LIHI(MFT=D) 60,840 60,840 0
Jl2gbl(Hsasn) 60,840 60,840 0
JlE2Zbl(Hsas) 60,840 60,840 0
201 er23| 28,800 28,800 0
01 At2tltl 28,800 28,800 0
OMEds g2Fd 28,800
202 04t 28,800 28,800 0
01 =LHNHI 28,800 28,800 0
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Ha: BHSIAY|(NSEED)
chel: |2 (MSAED) (9] Mo
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot OE”E& HR=2
ONM=i=E 28 28,800
203 22 =&IH| 3,240 3,240
04 EASHA 2RI 3,240 3,240
OM=&=1

3,240
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